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Cuadro 9 (continuación 4)/Table 9 (continued 4)
Ecuador: tablas abreviadas de mortalidada

 Ecuador: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.058 0.055  100 000  5 503  95 546 0.939 b 6 642 536 66.4
1 4 0.004 0.015  94 497  1 441  373 961 0.989 c 6 546 990 69.3
5 5 0.001 0.005  93 056   456  464 138 0.995 6 173 029 66.3

10 5 0.001 0.004  92 599   407  461 980 0.994 5 708 890 61.7
15 5 0.002 0.008  92 193   729  459 140 0.990 5 246 910 56.9
20 5 0.002 0.012  91 463  1 104  454 556 0.987 4 787 771 52.3
25 5 0.003 0.014  90 359  1 242  448 692 0.985 4 333 215 48.0
30 5 0.003 0.016  89 118  1 425  442 025 0.983 3 884 523 43.6
35 5 0.004 0.019  87 693  1 659  434 316 0.978 3 442 497 39.3
40 5 0.005 0.024  86 034  2 080  424 969 0.972 3 008 182 35.0
45 5 0.006 0.031  83 954  2 621  413 216 0.963 2 583 213 30.8
50 5 0.009 0.042  81 333  3 450  398 037 0.950 2 169 997 26.7
55 5 0.012 0.059  77 882  4 582  377 957 0.928 1 771 960 22.8
60 5 0.018 0.086  73 301  6 280  350 803 0.895 1 394 003 19.0
65 5 0.027 0.126  67 021  8 425  314 042 0.842 1 043 199 15.6
70 5 0.043 0.195  58 596  11 403  264 473 0.770  729 157 12.4
75 5 0.063 0.274  47 193  12 950  203 593 0.672  464 684 9.8
80 5 0.101 0.402  34 244  13 759  136 821 0.558  261 091 7.6
85 5 0.139 0.510  20 485  10 441  76 321 0.453  124 270 6.1
90 5 0.189 0.624  10 044  6 268  34 548 0.345  47 950 4.8
95 5 0.254 0.737  3 775  2 781  11 923 0.110 d  13 402 3.5

100 ω 0.672 1.000   994   994  1 479  1 479 1.5
Mujeres/Females

0 1 0.044 0.043  100 000  4 288  96 446 0.951 b 7 139 888 71.4
1 4 0.004 0.015  95 712  1 389  378 900 0.990 c 7 043 442 73.6
5 5 0.001 0.004  94 323   375  470 675 0.996 6 664 542 70.7

10 5 0.001 0.003  93 947   310  468 961 0.996 6 193 867 65.9
15 5 0.001 0.005  93 637   440  467 083 0.995 5 724 906 61.1
20 5 0.001 0.006  93 197   539  464 636 0.994 5 257 823 56.4
25 5 0.001 0.006  92 658   588  461 820 0.993 4 793 187 51.7
30 5 0.002 0.008  92 070   744  458 490 0.991 4 331 367 47.0
35 5 0.002 0.010  91 326   941  454 277 0.988 3 872 877 42.4
40 5 0.003 0.014  90 385  1 305  448 660 0.983 3 418 600 37.8
45 5 0.004 0.019  89 079  1 719  441 099 0.976 2 969 940 33.3
50 5 0.006 0.028  87 360  2 443  430 693 0.965 2 528 841 28.9
55 5 0.009 0.042  84 917  3 554  415 702 0.947 2 098 148 24.7
60 5 0.013 0.065  81 363  5 261  393 665 0.920 1 682 446 20.7
65 5 0.020 0.097  76 103  7 407  361 996 0.874 1 288 781 16.9
70 5 0.034 0.157  68 696  10 819  316 431 0.809  926 785 13.5
75 5 0.052 0.231  57 877  13 368  255 964 0.711  610 355 10.5
80 5 0.089 0.365  44 509  16 255  181 908 0.579  354 390 8.0
85 5 0.138 0.509  28 254  14 372  105 339 0.456  172 483 6.1
90 5 0.185 0.616  13 882  8 557  48 016 0.352  67 143 4.8
95 5 0.249 0.729  5 325  3 883  16 916 0.116 d  19 127 3.6

100 ω 0.652 1.000  1 442  1 442  2 212  2 212 1.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


